PRACTICE PAPER

Time allowed: 45 minutes Maximum Marks: 200

General Instructions: Same as Practice Paper-1.

Select the most appropriate option.
1. ‘Human Rights’ term was first used by

{(a) Britain (b)) America (r) India () Russia
2. The Axis Powers led by:

(a) Germany, Italy and Japan (t) Germany, Britain and France

(c) USA, Britain, Germany and France () None of these

3. In 1997 which countries were exempted from ‘Kyoto Protocol’?

{a) India — China by Japan — China ir) India — Japan () All of these
4. Which among the following statements about South Asia is incorrect?

{a)y All the countries in South Asia are democratic,

(b} Bangladesh and India have signed an agreement on river-water sharing.

(c) SAFTA was signed at the 12th SAARC Summit in Islamabad.

(d) The US and China play an influental role in South Asian politics.

5. Maitch the following:

Column-1 Column-2
A, Sampoorna Krant (i) Indira Gandhi
B.  Garibi Hatao (@} Jai Prakash Narayan
C. Swdents’ Protest (1)  Bihar Aandolan
D.  Railway Strike (fv) George Fernandes
(a) (A)=tiii), (B)=(iv), (C)= (a1, (I¥)= (7) () (Ad=law), (B)=(it), (C)=(i).(D)=(iit)
(e) (Ad=ta), (B)={zia), (Ch={ii), (D}=(rv) (d) (A={zit), (B)=(2), (C)=(at), (D)=(sz)
6. When was Bharatiya Janta Party formed?
(a) 1984 by 1982 i) 1980 (d) 1988
7. Which pair is correct with respect of the Punjab Agreement?
(a) Rajiv Gandhi — Surjeet Singh (b) Indira Gandhi — Sant Singh Longowal
(¢) Rajiv Gandhi — Harchand Singh Longowal (d) Pt. Nehru — Tara Singh
8. was an organisation of farmers from western UP and Haryana.
(a) Satnami Aandolan (b) Dalit Panthers
(¢) Indian farmers’ Organisation (d) Women

9. From which country did India got inspiration of planned economy?
(a) Soviet Russia (b) America () Britain (d) Pakistan
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Statement 1 : Russia got the seat of Soviet Union in the Security Council.
Statement 2 : Russia was accepted as the successor state of the Soviet Union.
(@) Both the Statements are correct
(/) Both the Statements are incorrect
(¢) Statement-1 is correct but the Statement-2 is incorrect
(d) Statement-2 is correct but the Statement-1 is incorrect
Which of these statements about the princely states is correct?
(i) Some of the princely states clearly wanted to become part of the Indian Union.
(i) The Indian government was ready to give autonomy to some regions.
(iii) First of all, the ruler of Junagarh announced that the state had decided on independence.
(a) (i) only (b) (it) only (¢) (i) and (i) only (d) (i), (i) and (i)
Which of the following statements does not throw light on the objectives of the Non-Aligned Movement?
(a) To enable countries liberated from colonialism to adopt independent policy
(b) Refusal to join any military organization
(¢) Neutrality policy adopted in global cases
(d) Focusing on ending global economic inequality

What is the need of foreign relations?

(a) Country’s independence depends only on foreign relations.

(b) I a nation’s foreign relations deteriorate, then there is a security threat to that country.
(¢) Both (a) and (b)

(d) None of these

What was the impact of the Indo-China Conflict on the opposition parties?

(@) The CPIL. which was in favour of the Soviet Union, grew closer with the Congress.
(b) The Communist Party of India broke.

(¢) Alerted the leaders of India about the situation in the Northeast.

(d) Both (a) and (b)

What is ‘Amnesty International’?

(a) Itis an NGO.

(b) It campaigns for the protection of human rights all over the world.

(¢) It prepares and publishes reports on human rights.

(d) All of these

Study the cartoon shown below and answer the following questions:

What does the picture show?

(a) Questions on the ability of the States Reorganisation Commission (SRC) to resolve linguistic disputes
(b) Resolving the linguistic dispute by the State Reorganisation Commission (SRC)

(¢) Misuse of State Reorganisation Commission (SRC)

(d) Use of State Reorganisation Commission (SRC)
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Arrange the following in chronological order.
(i) China’s accession to WTO
(ii) Establishment of the EEC
(iii) Establishment of the EU
(iv) Birth of ARF
(e} (£v), (iti), (1), (£2) by (a2), (a2, (1), (i) () (), (e), (2v), (22)
‘Global war on Terror® was the part of a war against terrorism launched by the US.
() Operation Enduring Freedom (i) Operation Desert Storm
(r) Operation Iragi Freedom () None of these
Which of the following statements are True about the impact of globalisation?
{a) Globalisation has been uneven in its impact on states and societies,
(#) Globalisation has had a uniform impact on all states and societies.
(r) The impact of globalisation has been confined to the political sphere.

(d} (paz), (2), (e}, (22)

(el) Both {a) and ()

When were the first General Elections held in India?

(a) In 1952
Match the following:

(b) In 1957

(c) In 1948

Column-1 Colummn-2
A, Charan Singh () Industrialisation
B. P C. Mahalanobis (#) Joning
C. Drought of Bihar (i)  Farmers
D. Varghese Kurien (r) Cooperative Dairy

(a) (A)=(iid), (B)~(iv). (C)= (i) (D)= (3)
(€) (A)=(0). (B)=(iii). (C)=(ii), (D)(iv)

When were ‘Privy Purses’ ended?
() 1970 by 1971

Seven states of North-East India together are called

() Seven Brothers

i£) Seven Caste

Directive theory of Independent Party was
() Interest of workers

by Save Princely State

(b) (A=(iv), (B)=(ii), (Ch=(i).(D)={iii)
(d) (A)=(iii), (B)=(i), (C)=(i), (D)={iv)
() 1972 (d) 1975

(b) Seven Sisters
(fl) Seven Rivers

ir) Independent economy free from state interference

(e} Autonomy of states within Union

During which PM’s tenure ‘Green Revolution’ took place?

() Jawahar Lal Nehru

i£) Indira Gandhi

Centre of ‘Satnami Aandolan’ was:
(a) Chhattisgarh

(¢) Maharashtra

(4 Lal Bahadur Shastri
(ef) Choudhary Charan Singh

(b) Punjab
(d) Chennai

Who gave the slogan of ‘Indira is India, India is Indira’?

(a) D.K Baruah
(¢) Sanjay Gandhi

(b) Indira Gandhi
(d) Rajiv Gandhi

When was National Democratic Alliance (NDA) formed?

(a) 1977 by 1991

(c) 1998

() In 1950

(d) 1999
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Statement 1 : On 26 June 1945, the United Nations Charter was signed by 50 countries.

Statement 2 : Poland signed the United Nations Charter on 15 October 1945,

ia) Both the Statements are correct

i) Both the Statements are incorrect

(€) Statement | 1s correct but the Statement 2 is incorrect

(el) Statement 2 is correct but the Statement 1 is incorrect

Below are some statements describing the characteristics of military organizations formed by the

superpowers. Identify the incorrect statement.

{a) Coalition member countries were required to provide space for the ‘superpowers’ military base in their
Lerriory.

ity Member countries had to support the superpower at both ideology and strategy levels.

(r) When a nation attacked one member country, it was considered an attack on all member countries.

() The superpowers helped all the member countries to develop their nuclear weapons.

Which of the following statements is correct about the partition of India?

(i) On the basis of religion, two provinces - Punjab and Bengal were divided.

(ii) There was no consistency between East Pakistan and West Pakistan.

(iii) The plan of partition also included that there would be exchange of population between the two.
(a) (i) only (b (i) only () (&) and (i) only (el) (1), (22) and (i)
Which among the following is not an outcome of the disintegration of the USSR?

{a) End of the ideological war between the US and the USSR
iy Birth of CIS

(r) Change in balance of power in the world order

{el) Crisis in the South East

When was the World Bank established?

() 1942 by 1945 €) 1947 () 1950

How many bilaterals have been signed between India and Russia?

{a) 10 iy 20 ic) 30 (el) 8O
............... leaders are considered the founders of the Non-Aligned Movement.

(a) One ity Two ir) Four () Five

Which countries are included in CIS?

(i) Belarus (ii) Georgia (iii) Brazil

{a) (i) only by (a) only () (1) and (i) only (el) (2), (1) and (i)
When was New Economic Policy adopted in India?

(a) 1989 (b 1985 ic) 1950 () 1991

When was Janta Party duly formed?

{a) May 1975 by May 1977 (c) Jan 1977 () March 1977
Who has given the title of a ‘new world order'?

(a) George Bush (b)) Washington DC

(r) Gorbachev (e} None of these

ASEAN is an organisation, whose basic objective is:
(et} Economic by Poliacal (r) Social () None of these

Identify the country:

In the conflict between the military and pro-democracy groups, the military has prevailed over democracy.
(a) Nepal by Britain (¢) Sri Lanka () Pakistan

In what way can ‘balance of power’ be established?
(er) Alliance (hy Disarmament (¢) Defend against military {d) All of these
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The population of indigenous people in the world is:
(&) 20 crore

() 35 crore

(€) 50 crore

In which year the first business school in the world was established?
by In 1971

(a) In 1881

Which among the following best explains the reason for growing concerns about the environment?

(e) In 1871

(@) The developed countries are concerned about protecting nature.

(ff) None of these

{ff) None of these

(#) Protection of the environment 1s vital for indigenous people and natural habitats.

(r) The environmental degradation caused by human activities has become pervasive and has reached a

dangerous level.

(el) None of these

What is cultural homogenisation or uniform culture?

(a) Political dominance

(a) Military

(r) Landowning aristocracy

‘Non-alignment’ means:

(a) Neutral
() Isolation

Which statement among the following is not related to Congress Party?

() Cultural dominance

(@) Congress Party lost in 1989 Elections

(r) Economic dominance

() Clergy
(e} All of these

(b} Neutrality
(«f) Mot align with any power

by In 1991 General Elections, Congress won the majority
() After the death of Rajiv Gandhi, H.D. Devegoda became the Prime Minister
() In 1960 decade, Congress got no confidence motion for proving its majority

International resources includes:

(@) earth’s atmosphere
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() Antarctica

(r) outer space

ANSWERS

3. ()
10. (@)
17. (b)
24. (¢)
31. (c)
38. ()
45. (¢)

4. (a)
11. (¢)
18. (a)
25. (b)
32. (d)
39. (1)
46. (b)

5. (d)
12. (o)
19. (d)
26. (a)
33. (b)
40. (2)
47. d)

(el) All of these

What factors have contributed to Pakistan’s failure in building a stable democracy?

(el) All of these

6. (¢)
13. (c)
20. (a)
27. (a)
34. (d)
41. (d)
48. (d)

7. (¢)
14. (d)
21. (d)
28. (¢)
35. (d)
42. (a)
49. (c)



